HENGSTLER

IERZMmISEERS20
: - 10mm $HE4H
SicsmER .
cw TEEH
50922 / 5

=

HENGSTLER

EEIE/Hotline

+021-80281561, 021-80281553
EEEFHER T TS (K2) BIRAF
RiETHPEE XRAMEBFHARK285, 300385

http://www.hengstler.com.cn

Sine-wave encoder RS20
Taper full-length shaft 10mm
Installation instructions

Fortive Setra-ICG Tianjin Co. Ltd.

Weiwu Road 28, TEDA Micro-Electronics Industrial Park
300385 Tianjin/ China
http://www.hengstler.com.cn

European Sales Representative
Hengstler GmbH

E-mail:info@hengstler.com.cn Uhlandstr. 49 D-78554 Aldingen/ Germany

www.hengstler.com

Y1#4S/Art No.: 703299-0001
KR4S Ver. B

#X3KR~T/Page Size: A3

* UIH X, HA57{784 Subject to change without notice

it

1. 85

XA RTF WHR BOER A0 XA i 23 H AR -
PR EORS20(( 808 T RS S 245 2, AR AT BB R BA TER A s NBRATRI 2 E 4T T 3

www.hengstler.com.cn

1. Preface

These installation instruction are provided for the connection and starting procedure of your hollow shaft encoder.

You will get further information from the RS20 datasheet, on request or on download from our Internet site.

www.hengstler.com

GDecs

RERIEEAR
EmiDE SRR TR, ATLARISEs /N 18RI T TRIRANIRED.
hERERYhIS R R RKBE

SR BB RBR AR P BERR DA RIS 25,

->BIHaFrE TR, SUIMFrERIREA BRERTIPAMRNZ S !
FRERIS R IRIFROBE

RISERREPRICMOSEME I TR EIFREUR, HINRIRER - EREHRE.
-> RIS R E FE R !

ARt SIS PR IR IR KBS

NI B ELIRDIEIN, FESIERGHRATR AT E.

-> FERHImDRAE! RIERMTHRINHE HaiE SIERmR ARG Ridsn L £ !
ARk SRR IR RO KBS

BRROE, PEFRRT, TASEUCBRERRSIIRIAIIIRIA,
-> AEANTE! ERLFEIETRINERITR.

IS SRR IRIR KBS

-> FRERBEERAERAINRIREE RN IE.

REHE: TIdiEiEs

TR RO B R R RE R FR R IfELAM (SELV).

2. Safety

Authorized persons

The encoder should only be assembled and dismantled by a qualified electrician, as the unit contains sensitive electronic circuits.
Risk of injury due to rotating shafts

Hair and items of clothing may become caught up in rotating shafts.

->Prior to commencing all works, disconnect all power suppliers and ensure that the working environment is Safe!

Risk of destruction due to static electricity

The CMOS modules contained in the encoder are very sensitive to high voltages such as can arise due to friction of the clothing.
->Do not touch plug contacts or electronic components!

Risk of destruction due to mechanical overload

Rigid mounting will give rise to constraining forces which will permanently overloaded the bearings.

-> Never restrict the freedom of movement of encoder! Use only the enclosed sheet steel springs or a suitable coupling to secure the unit!
Risk of destruction due to mechanical shock

Violent shocks, e.g. due to hammer blows, can lead to the destruction of the optical sensing system and the ball bearings.

-> Never use force! Assembly is simple provided that correct procedure is followed.

Risk of destruction due to overloading

-> The unit may only be operated within the limits specified in the technical data.

Fields of application: industrial processes and controls.

Over voltage at the connecting terminals must be limited to over voltage-class-Il values (SELV).

The connecting cable is not for dragline mounting, only for fix mounting.

This encoder is a supply part destined for mounting to an appliance (motor, machine). It is not provided for customer sale.

Manufacturers integrating this encoder to their facilities are responsible as well for compliance with CE guidelines as for the CE mark.


http://www.hengstler.com.cn/
mailto:info@hengstler.com.cn
http://www.hengstler.com.cn/
http://www.hengstler.com.cn/
http://www.hengstler.com.cn/
http://www.hengstler.com.cn/

3. 2% / Assembly

GHIGIR 0-5: FREARRITE 223 MR U], REBAREERMIRIE 22 2 s R Ut
0-5 installation sequence; Letter A: special step for tether, letter B: special step for expansion flange

AT D
The tether has been
installed before delivery

Md=1.25-0.2Nm

M3X8

[

-l - - 0|

ZELLLLLL

I

1 BRTT 1 2k

SR RERRE N

The metal ring shall be clamped in the

round groove

ERMICRR~/ Required mating dimensions

20,54 £32.5

>15—

=— 103101

@9,25

L
05 & ]
} 7}
—=={T0 ]
7,5+0.
2
15

The cable should be “S” shaped

—“\&

19<L<22

0A
g Z 2A
M5X55
Md=5+0. 5Nm
3A
4
(¢] & O ¢
'*35.0i2.0mm—~|
A
L [ 52 24T ik Screw specs

22<1<32.5 M5x55 DIN 6291-8.8

M5x50 DIN 6291-8.8

M2.5X10

M5X55 DIN 6912-8.8
Md=5+0.5Nm

Md=1.25-0.2Nm
sw2 ©

M2.5X10
Md=0.4+0.1Nm

1
2B
) 38
K@ _
__7_;_13,’ —
5

RS, SRAEEL.
Ensure plug in tight. The cover lid does
not press cable.

=

2EL =35

[of 0l [A

>12
<3 1

M3

05

—=-{10 ]

7,501

12 To02 [A

L [ 52 24T ik Screw specs

Im

22<1<32.5 M5x55 DIN 6291-8.8

19<L<22  M5x50 DIN 6291-8.8

4. 370 / Dismounting
5-7848: Il 45 WA IRE T G HER T, ORI IRE-7; J7vk2 WP YRS A 75 S K R R E T MBHRET o
5-7 or 8: Two disassembly methods to push out the cone shaft, see step 5-7 for method 1; Method 2 see step 8 using special custom M6 screws to be purchased separately.

NI

M2.5X10

Not included

fHEEFRE
Operating Voltage

]

5. BAREEE / Technical data

5V+5% (SELV)

TRETHREFETR Imax 150 mA
No load supply current

B= 6,000 PRM
Max Speed

SR A BaD +0.4 mm
Mating shaft axial move-

SR AR E D +0.1mm
Mating shaft runout

HTRHFER IP40

Enclosure rating

{554z Signal Format
NEEE, MFREEEsm CCW View from cover

»‘ 360°%l

>

o
|
[

360°tech
|

1
3
5
7
M6X70
B3 R AR A
On request
T{eEE -20°C~100°C
Operating Temperature
FEEE -20°C~80°C
Storage Temperature
58 200 g
Weight

B ——— 08-1.2Vsgn1Veg
ANINISINISTE e

U,8~1.8\/55,N1\/gg
2=k Q

0.2~0.83V,~05V
7=120Q

M6X70
JSEE SR AR A

On request

10 5.
=% 9.78 ; -
5.00 HEX

6

.0
7

25 f—

f—

5.974(6q)
73

+
!|||||\HIMI|HI|I:D]L:; L

3MING N6

f

1

SERIFERATIT 185 P/N for special dismounting screw : 116990-0002
FHHE YIS Need to purchase separately

Iae
Function
C_

5V

A_

D+

NC

Jm@ﬁ@ﬁmmi

FB45 (%) Cable(optional )

Wire Color
BRN

GRY/PNK
YLW

BLK
GRN/BRN
BLU

PNK

GRY

RED
WHT/GRN
VIO

GRN

RED/BLU
WHT

=2t e
fR
/¥
E
/R
3

M

a
B/&
=

5
4/
=



